Unix Z2 02 Sl &5

4%k A|AEIX H

1 SEBLTH 3 b Y7EI B34



o
12702
Y AAHTY HE MDA
3 AFS A R i A
4% A7t e BH

> http://lily.mmu.ac.kr /lecture /13u2 /ch04.pdf

MO| Lt LIS $HEA| manQ 2 EH9I 24

- =
> UNIX, LINUX 5 A|AEIOICE XtO| 7} U2 2~

Ol2S HiC A| O Al
AMO =2 L — — 1

2 BESYopTy B fUFET Y


http://lily.mmu.ac.kr/lecture/13u2/ch04.pdf
http://lily.mmu.ac.kr/lecture/13u2/ch04.pdf
http://lily.mmu.ac.kr/lecture/13u2/ch04.pdf

A~ HE O 4-2

Linux 2| sysinfo

»manC &2 20| Tt

=3 O

1 #include <sys/sysinfo.h>

2 #include <stdlib.h>

3 #include <stdio.h>

4

5 int main(void)

6 {

7 struct sysinfo my_sysinfo;

8

9 if (sysinfo(&my_sysinfo) == -1) {
10 perror("sysinfo");
11 exit(l);
12 }
13
14 printf("uptime : %d\n", my_sysinfo.uptime);
15 printf("number of processes : %d\n", my_sysinfo.procs);
16
17 return 0;
18 }
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